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Question No : 1

Assume you have two data files: a personnel file with information about employees and a
second file withinformation about performance categories. You will use IBM SPSS Modeler
to merge the files together using performance category as the key. However, there are
inconsistencies in the category keys used in both the personnel file and the performance
file. Inorder to merge the files together without losing information from either the personnel
file or the performance category file, you would use:

A. A full outer join.

B. An inner join.

C. A partial outer join.
D. An anti-join.

Answer: A

Question No : 2

Ahistogram chart is used to graph fields of which measurement type?

A. Continuous
B. Flag

C. Nominal

D. Ordinal

Answer: A

Question No : 3

Which statement is correct regarding the Sample node dialog shown below?




Sample method: @ Simple () Complex

~ Simpie Sample
Mods: @ include sampie Discard samgle
Sample: O First -
© 14n-n : :
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A. It will select every 60th record from the data.
B. It will randomly select exactly 60% of all the records.

C. It will select approximately 60% of the records. That is, each record will have a 60%
probability of being selected.

D. It will always draw the same 60% of the records each time thisSample node is run.

Answer: C




Question No : 4

Generally speaking, to modify values in columns of a working data file, you would use
nodes from which palette or menu group?

A. Record Ops
B. Field Ops
C. Export

D. Sources

Answer: B

Question No : 5

Which nodes can be used to replace missing data with valid values? (Choose two.)

A. Filler node
B. Distribution node
C. Filter node
D. Data Audit node

Answer: A,D

Question No : 6

True or false: missing values can be specified in the Source node used toread the data or
in the Type node.

A. True
B. False

Answer: A

Question No : 7

Given the following Output Table - to create a Select node which includes vehicles from
both groups 4 and B, click on 4 and on B (as shown) and select from the menu:




[ Table (5 fields, 128 records)

lg File |5 Edit ¥ Generate
Policyholder age |‘-.-"eh4'cle group [ Vehicle age | Average cost of claims | Number of claims

1 17-20 A 0-3 2859 2
P 17-20 A a7 282 &
3 17-20 A &-5 133 4
4 17-20 A 10+ 1680 1
5 17-20 B 0-3 vz 10
B 17-20 B 4.7 249 28
7 17-20 -3 288 1
8 17-20 B 10+ 11 1
9 17-20 C 0-2 189 9
10 17-20 C 4.7 288 13
11 17-20 53 &-5 179 1
12 17-20 C 10+ nulls 0
13 17-20 0 0-3 783 3
14 17-20 o 4.7 250 2
15 17-20 o 2-9 Snulls 0
16 17-20 O 10+ Znulls 0
17 21-24 A 0-3 302 18
18 21-24 A a7 154 k3
19 21-24 A 2-9 135 10
20 21-24 A 10+ 166 4

R [

o]

A. Generate...Select Node (“Or”).
B. Generate...Select Node (“And;j”).
C. Edit... Select Node (“Or”).

D. Edit...Select N

Answer: A

ode (“And”).

Question No : 8

The Anomaly node is on which palette or menu group?

A. Field Ops
B. Record Ops
C. Output

D. Modeling

Answer: D




Question No : 9

In a Derive node, which expressions will produce a continuous date lype rather than a
string? (Choose two.)

. '2001-04-23

. to_date(*12/04/2050")

. '03/15/2009

. datetime_date(2008, 05, 22)

o0 w>»

Answer: B,D

Question No : 10

True or false: a Database Export node can be used to write data to more than one
database table in the same operation.

A. True
B. False

Answer: B

Question No : 11

When using the Algorithm method to replace missing values in Data Audit output, which
algorithm is used?

A. Neural Net

B. 05.0

C. C&RT

D. Cox Regression

Answer: C

Question No : 12

Which nodes are best suited for revealing relationships between categorical (nominal,




ordinal) fields? (Choose two.)

A. Means node

B. Matrix node

C. Distribution node
D. Table node

Answer: B,C

Question No : 13

The Analysis node can be very useful with regard to model evaluation. Consider this output
from the Analysis node.

BY Analysis of [CHURNED]

E-Resultz for output field CHURNED
B- Overall Results
B Individual Models
E] Comparing Meural Met with CHURNED

'Partition’ 1_Training 2_Testing
Correct B4 B4.01% 819 B186%
" Wrong 115 15.80% 135 18.34%
Total 719 758

: - Coincidence Matrix for Heural Net (rows show actuals)
E- Comparing C5 with CHURNED

'Partition’ 1_Training 2_Testing
Correct 530 BTEZ% 548 B5.40%
" Wrong B3 12.38% 110 1451%
Total 719 758

- Coincidence Matrix for C5 (rows show actualz)
- Agreement between Meural Het C5

'Partition’ 1_Training 2_Testing
Agree 667 52 7M% 711 93.8%
""" Disagree 52 7.23% 47 B2%
i | Total 715 708
El Cumparlng Agreement with CHURNED
i | 'Partition’ 1_Training 2_Testing
. | Correct 581 8B.61% 610 B5.79%
“'wrong 76 11.39% 101 1421%
Total 867 711

. Coincidence Matrix for Agreement (rows =how actualz}




When comparing the overall accuracy of the Neural Net model to the 05 model, the Neural
Net model is:

A. More accurate

B. Less accurate

C. The same accuracy
D. Not determined

Answer: B

Question No : 14

In the Gains Chart displayed below, what does the $BEST-CHURNED line represent?

\Z] Evaluation of [SC-CHURNED) : Gains =1 fe e

o File | = Edit ¢ Generate & View

Graph || Annotations

1001+

$BEST-CHURNED

a0y -+ $C-CHURNED

B0 "3

% Gain

401

20 -+

a Z'Iﬂ ﬂ:] EII] E:l'l 11!II:I
Percentile
CHURNED = "“Val"

A. The best current model to predict the field CHURNED

B. The theoretically best model to predict the field CHURNED

C. The best model for cases in the training partition to predict the field CHURNED
D. None of the above

Answer: B




Question No : 15

In the Regression node, which option uses allof the input fields in the model regardless of
importance or significance?

A. Stepwise
B. Backwards
C. Forwards
D. Enter

Answer: D

Question No : 16

Which statement is correct regarding the Balance node shown below?

'\

@
@ =0l

. i,u -_-H_-t-:-.--;-ﬁ;,:tﬁj

Balance Directives:

Factor Condition |
26857 RISK = "bad loss”
1.0 RISK = "bad profit”
2.994 RISK = "good nsk”

313123 30

|« Only baiance training data

Lok ) (cancey) luapey) (Boeet |




A. The sizes of the larger two groups will be reduced to equal the size of the smallest
group.

B. The “bad profit” category is the smallest group.

C. The sizes of the first and third groups will be increased.

D. The result group sizes will always be the same each time the Balance node isrun.

Answer: C

Question No : 17

Which node allows you to choose from many different graph types (bar charts, pie charts,
scatterplots, heatmaps, etc.) in one single node?

A. Collection node
B. Multiplot node

C. Graphboard node
D. Evaluation node

Answer: C

Question No : 18

Which statement is the correct interpretation of the rule: “those that use less than or equal
to 4.976 of LOCAL are predicted to be InVol’?
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® CHURNED

.

lai Fle ¥ Generate  oF View

o LOCAL == 4.976 [ Mode: InVol | = InVol (38; 0.307)
- I_.DC.ALM.Q?E [ Mode: Current] (831)
E- SEX=M [Mode: Current] (200
B International == 0.905 [ Mede: Current] (235)
E- AGE == 28 [ Mode: Current] (28]
.~ Est_Income <= 328950.500 [ Mode: Vol ] = Vol (13, 0592
: Est_Income = 289530.500 [ Maode: Current] = Current (23 1.0)
f AGE = 29 [Mode: Current] = Current (218 1.0
- International = 0.905 [Mode: Val ] = Vol (44 0727
& SEX=F [Mode: Vol ] (331
E- AGE == 38 [Mode: Current] (93
EI Internatinnal =={1.905 [ Mode: Current] (75
B Est Income == 51,669 [Mode: Current] (40)
. -~ AGE <= 29 [Mode: Vol] => Vol (22; 0.727)
: b AGE =29 [Mode: Current] = Current (13 1.0
: Est Income = 51,669 [Mode: Current] = Current (29 1.0)
International = 0:905 [Mode; Vol] => Vol (14; 0.788)
- AGE =38 [Mode:Vol] = Vol (238 0.503)

concel

A. The rule applies to 88 people and the confidence is 80.7%.

B. This rule was accurate 88 times which was 80.7% of the time.
C. This rule does not exist.

D. The accuracy of this rule cannot be determined.

Answer: A

Question No : 19

Examine the output generated by the K-Means clustering model.
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Study the results of the Distributionnode relating the clusters created by K-Means to the
outcome (dependent) field current customers; Vol = customers that left; In Vol = customers

that were dropped becau

B2 Distribution of SKM-K-Means
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A. Improve the long distance calling plan and rates.
B. Improvethe local calling plan and rates.




C. Improve the international calling plan and rates.
D. Create a “Pay as You Go” plan (pay only for the minutes you use).

Answer: D

Question No : 20

Which of the following is the biggest advantage of using a data cache?

A. Integrating the modified data with the original data source
B. Creating reports or doing other analyses with other software
C. Using the prepared data file more efficiently

D. Applying modifications to new data more easily

Answer: C

Question No : 21

The Feature Selection node is used for what reasons? (Choose two.)

A. Screens input fields for problems such as missing data.
B. Selects the best fitting model.

C. Selects the best input fields for model.

D. Ranks the models by importance.

Answer: A,C

Question No : 22

True or false: in the PCA/Factor node when doing a Principal Components analysis without
rotation, the values reported in the Component Matrix represents the correlation between
each field and a factor.

A. True
B. False

Answer: A
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